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The figures in the margin indicate full marks
Jor the questions

Answer either in, English or in Assamese

1. Answer the following QUestions as directed :
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(@) Fillin the blang :
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() Every set i , B of litaclt:
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(W) The set of natural numbers less
than 1 is an example of .
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(b) Write True or False :
TR G o9 gy

We can find the determinant of a
rectangular matrix.
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(c) Write the transpose of matrix A :

Aamﬁ@%ﬁm:

A=[3 5 &
[2 0

(d) What is homg

(e) Statethe Prodyct rule
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y=6x3 +15%
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(g) Find :
T fefy 1

(h) Write the

Subsetg of the set
A={-10,2;.

A=171.0,2) i %W"\QI\TFFR forain |
() Evaluate -
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2. Answer the following questions : 2x5=10

oot fHll PSS fiy -

(@)~ Write the difference between diagonal
matrix and identity (or unit) matrix.
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() HA=(0,1,2 3 ony
find An B ang
Venn diagram,_

B={10,11, 12}, then
show it by means of a

M A=(0,1,2 3) e

B={10,11 12} =,
(@ AN B ffy
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(d) Solve :
ST F91
2X+5y<15
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20A/63 ( Continued)



(5)

(e 1

[2 0]
A=|3 1| and B s

|5 6] Ls 3l

then can you find B - A? Justify your
answer.
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3. Answer any four of the following questions :
5x4=20
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(a) ’I‘_est whether the following matrix iS
singular or non-singular :
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(6)

Find the inverse of maftrix A :

Aaﬁﬁ@cﬁwﬁww:
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[1 5 2
Evaluate
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Find
dy .
“d—'z, 1fy=3(5x2 +7)8
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4. Answer the following questions : 10x4=40
oo 2R T f :
fa) () Whatis polynomial function? 2
= T & 9
() When are two matrices said to be
equal? 2
o1 (T oo sy or =2
(iii) If
[3 2] Ohifiss)
and B = ol 1
Ll 2] =it
then prove that AB=BaA. 3
3
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Fld=x2, @y x <1
=2.5, @feqr x =1
=x? 12, @feqr x> 1
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prove th
at(AB)c < A(BC). 10
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(i)
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(9)

State and prove the quotient rule of
differentiation. 2+6=8

SR ©IFE BAF Ao o S
SN 541 |

Given the marginal revenue

function MR =30 - Q, find the total
revenue function (TR). 2

A oM F MR = 30 — Q 2o T T
Fol (TR) g 347 |

Or / 521y
Prove that
%(ex) =e* 4
3919 ¥ @
d
'd_‘x(ex] =e
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2 2, then find %2 0z and _a_?_
ox Y
3+3=6
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( 10 )

! o
d the value of &4 .
(c) Find th
dy
— 3 g .
dx

(1) y=10g (a+bx)n

(i) y=(x? +1). ex

{dj Solve (by USing Cram

A 1 (G i

2x‘_3y+42= 8

3x+4y"‘52=—-4
4x.._5

5+5=10 }
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(iii)
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Or / |41

Find equilibrium national income (¥)

and consumption (C) from the
following model :

Y=C+1I
C=50+0-8Y
I=100

Tod SIROR 2/ Sy qgw S (Y)
€ Tegeal (C) Fefa 41

Y=C+TI

C=50+0-8Y

1=100

Find the

slope of the line
5x +2y =20. _

SX +2y = 20 @6 v ey 390 |
Write a short note on statiC
Input-output mode].
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